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ARG —1 RIBTIA /) FENTASL 565.0[ 3.50[ 0.00| 1.12 WATHIR 7 L
3.50] 0.00] 1.12
ARELE G FRAETHA / FERT AL 110.0| 3.50| 0.00| 1.12 WTTHIBR 7 L
3.50] 0.00] 1.12
= ~F A 2B AR T E <7 172.9| 3.50| 0.00| 1.25| 1,610.0 WETHIR 7R L
3.50] 0.00] 1.31
kS 2B TR T T 741.0| 3.50[ 0.00| 1.25 SRR 224F WATHIRRZ L
2B AR T S AR 3.50] 0.00] 1.31
H o i FEIE TAEFRET B 2 Ji 22.0[ 3.50| 0.00| 1.75 224.6 RL214F WATHIR 7R L
3.50] 0.00] 1.75
URREEDAIE FEIE TAEGRNT B 2 i 169.0[ 3.50| 0.00[ 1.13| 1,530.6 RR214E WATHIRRZ L
A TR AT T L 3.50] 0.00] 1.12
RF0G A AR T L 199.0[ 3.50| 0.00| 1.23[ 1,810.1 k214 WTTHIBR 7 L
3.50] 0.00] 1.12
MR HFRAR T 5 359.0| 3.50| 0.00| 1.25 WATHIPR 72 L
3.50] 0.00] 1.25
I ks H GEAT T ERIT 1 212.4| 3.50| 0.00| 1.18| 1,960.0|8MiAEENG T R224F HWATHIRRZ L
3.50| 0.00| 1.13 AT
A JIE HFRAT R T 195.0| 3.50 0.00| 1.14| 1,807.6|P CH5 T R264F HWATHIRRZ L
3.50| 0.00| 1.13 AT
IRERE HFRAT T FRH T 143.0| 3.50[ 0.00| 1.25| 1,322.8|sisEErE K254 WATHIRRZ L
3.50] 0.00] 1.25 AT
5 )G HEFRAB TR 8 149.0| 3.50| 0.00| 1.15| 1,513.8|P CH& SRR 254F WETHIRZR L
3.50] 0.00] 1.13 HAEHT
ERRER 5 HEFRAB TR 8 204.0[ 3.50[ 0.00 1.12 1,887.0|P C#& ERE214E WETHIR 7R L
3.50] 0.00] 1.12 HAEHT
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11|45 SR T SR M PN 187.0| 3.50| 0.00[ 1.25| 1,896.2|8MIsHEE RL2 14 WITHIR 7 L
3.50] 0.00] 1.25 AT

1] )14 =R R AT SR N 87.5| 3.25| 0.00| 1.50 974. O|SHYATENG RL214F WITHIRZ: L
7.00] 0.00] 1.25 AT

)G SR T R TR 277.0| 3.50| 0.00| 1.25| 2,562.3(8HVAHAE R 264 WETHIRZR L
3.50] 0.00] 1.25 AT

Ny z)E =T T 242.0[ 3.50[ 0.00[ 1.13| 2,238.5|P C#& 224 WETHIRZR L
3.50] 0.00] 1.13 LT

FRIENE SR AT A 150.5| 3.50| 0.00| 1.13| 1,392. 0|SMyAHEAE AL 264 WITHIR 7 L
3.50] 0.00] 1.13 AT

WL SRMEEIT =% 183.0| 3.50| 0.00| 1.13| 1,698.2|P CH& R 234 WETHIR 7R L
3.50] 0.00] 1.15 AT
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3.50] 0.00] 1.75 BT

81146 SR ST 30.0| 3.50| 0.00| 1.75 341.7|P CH& FRL204F WETHIR 7R L
3.50] 0.00] 1.75 BT

£ H KA =it = RIRAT R M 226.0[ 3.50[ 0.00[ 1.12| 2,492.1|P C#& FRL214FE WETHIR 7R L
3.50] 0.00] 1.12 AT

EYE)IE =Y/ 696.0[ 3.50[ 0.00[ 1.25 7,057.4|P CH& SRR 254F WETHIR 7R L
3.50] 0.00] 1.25 HAEHT - SEAEAT

[ HRAT SR AT T 224.0| 3.50| 0.00| 1.13| 2,278.1|P C#& SRR 254F WATHIRRZ L
3.50] 0.00] 1.13 AT

FOAIAE ZRATANEINT 27.5| 3.50| 0.00[ 1.82 386. 7 WATHIRRZ L
3.50] 0.00] 2.06
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%I =itk ILET 129.0| 3.50| 0.00 1,195.6| P C#& FRR204F
=kt LT 3.50| 0.00 AT
KA FE TR I 5 Bi225 7 1t 135.5 3.50| 0.00[ 1.12| 1,253.4|P CHE Rk 224F WATHIPR 72 L
3.50| 0.00| 1.12 AT
P34 FE T KB HT 300.0| 3.50| 0.00| 1.66| 2,775.0{P C#& SRR 254F WATHIPR 72 L
3.50| 0.00| 1.62 LT
EHIL HIE FEJE T A FolT 4 F 315.5 3.50[ 0.00 1.12 3,218.1|P C#& SRR 254F
3.50| 0.00| 1.12 LT
NG FEJ T A FRT & 133.0| 3.50| 0.00| 1.25| 1,230.3|P CH& SRR 224 WTTHIER 7 L
3.50] 0.00] 1.25 HAEHT
ek JFEJSTT A FRET 5 231.0| 3.50| 0.00| 1.12| 2,136.8[P C#& R 244F WATHIPR 72 L
3.50| 0.00| 1.12 AT
K H &84 FEJ T 116.0| 3.50| 0.00| 1.12| 1,178. 6|4MiAHEAE R 224 WTTHIBR 7 L
3.50| 0.00| 1.12 AT
13722 HAG FEJ T A FIRT IR A HiN 297.0[ 3.50[ 0.00[ 1.13 R 234 WETHIR 7R L
3.50] 0.00] 1.13
AN FE R O RORTAS M4 N 166.5| 3.50[ 0.00[ 1.25| 1,540.1|P CH5 TRk 244F WATHITR 7 L
FEJECTT O FnRT A AR bl N 3.50| 0.00] 1.00 AT
EARBHE FEJEHT A FamT AT s 58.0 536.5| P CH& TRR204F
FEJET OFRRT A Ay ST
R 46 FEJTT A FONT AT HiAs 82.0[ 3.50| 0.00| 1.25 758.5(8 (k) U~ ME [FA23E WETHIR 7R L
JEJRCHT D FRET AT A 3.50] 0.00] 1.25 LA
He G FEJTT A FONT AT HuAs 322.0| 3.50[ 0.00| 1.75| 3,300.5 k234 WTTHIBR 7 L
FEJT A FOIT A7 A 3.50] 0.00] 1.75
AL A FEJTT O FnlT AT s 207.0| 3.50| 0.00| 1.63| 2,121.8[P C#& R 254E WITHIPR 7 L
JEJRCHT L FRET AT A 3.50] 0.00] 1.63 LT
KERG FEJ T I R 217.0[ 3.75 0.00[ 1.38| 2,224.3|P CH& R 224F WETHIR 7R L
JEJ T BT R 3.75] 0.00] 1.38 AT
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T AR 14 JEJRUT 3 B ET RS 172.5 3.50[ 0.00| 1.63| 1,768.1|P CH& k254 WTTHIER 7 L
SRR v B ET TP PN 3.50] 0.00] 1.63 LR
T W) 45 PRI i B ET RS 530.0[ 3.50[ 0.00 1.63| 5,432.5|P C#& k244 WATHIRZR L
3.50] 0.00] 1.63 LG
B3RS JFEJRC i BT 41.0| 3.50| 0.00| 1.79 430.5| P CH& k244 WETHIR 7R L
3.50] 0.00] 1.78 BT
K H— G Er i TS AL F 22.0| 3.50| 0.00 1.75 231.0 WTTHIER 7 L
3.50] 0.00] 1.75
M G Ep o T AL A 245.5| 3.50[ 0.00| 1.63| 2,516.4|P CH& Tk 234 WITHIBR 7 L
Emm 3.50| 0.00| 1.63 AT
K )G L i [ AT 143.0[ 3.50| 0.00| 1.65| 1,470.0|SMEEHENE k224 WATHIR A Y
EmTiEHEITEE 3.50| 0.00| 1.63 AT
K FEserE R T 79.0| 3.50 1.66 812. 1|SHyATENG RL214F WITHIRZ: L
3.50 1.63 AT
I L E 24 EmTiEHEITER 180.0| 3.50| 0.00| 1.66| 1,848.0|P CH& 224 WITHIR 7 L
3.50] 0.00] 1.62 LT
& W)IE L o [T 249.5 3.50[ 0.00 1.63| 2,557.4|P CH& Tk 234 WTTHIER 7 L
3.50 1.63 AT
BRI L o [T W 166.0[ 3.50 1.63| 1,701.5|P CH& k244 WTTHIBR 7 L
3.50 1.63 LT
KEF)IE EmTiEHEITER 129.0| 3.50| 0.00| 1.12| 1,193.3|P CH5 RL214F WITHIRZ: L
3.50] 0.00] 1.13 LT
A LR =T BAT 123.0| 3.50| 0.00| 1.13| 1,137.8|P CH5 RL204F WITHIRZ L
3.50] 0.00] 1.12 LT
N G EmRT =BT A E 125.3| 3.50| 0.00| 1.13| 1,159.0|SMyAHEAS PR 224 WETHIR 7R L
3.50] 0.00] 1.12 LT
BN i ERET = JJRITRE 295.0| 3.50| 0.00| 1.13| 2,728.8[P C#& R 224F WATHIRRZ L
3.50] 0.00] 1.12 ST
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3.50| 0.00| 1.13 AT
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